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ৗඍ෼ํఔࣜ ԋश [2019೥౓ظޙ [ݶ1༵݄ ୈ6ճ (11/18(݄))

(1) y(x)ͷඍ෼ํఔࣜ y′′ − 2y′ + 5y = 0 —(∗) ʹ͍ͭͯɺҎԼͷ໰୊Λղ͚ɻ

(a) ํఔࣜ (∗)ͷҰൠղΛٻΊΑɻ

(b) ํఔࣜ (∗)ͷղͰɺڥք৚݅ y(π) = 2, y′(π) = 0Λຬͨ͢΋ͷΛٻΊΑɻ

(c) ํఔࣜ (∗)ͷղͰɺڥք৚݅ y(0) = 3, y
(
π
4

)
= −1Λຬͨ͢΋ͷΛٻΊΑɻ

(2) y(x)ͷඍ෼ํఔࣜ y′′ + 4y′ + 3y = 5e2x —(∗) ʹ͍ͭͯɺҎԼͷ໰୊Λղ͚ɻ

(a) ಛղͷܗΛ y(x) = C e2x (C: ఆ਺) ͱԾఆͯࣜ͠ (∗)ʹ୅ೖ͠ɺCͷ஋ΛٻΊΔ͜ͱͰɺ
ࣜ (∗)ͷಛղΛٻΊΑɻ

(b) ࣜ (∗)ʹରԠ͢Δ੪ํ࣍ఔࣜ y′′ + 4y′ + 3y = 0 ͷҰൠղΛٻΊΑɻ

(c) (a), (b)ͷ݁ՌΛ΋ͱʹɺํఔࣜ (∗)ͷҰൠղΛٻΊΑɻ


